ST UDY L ENTRE

CITIZENSHIP WORK SHEET TEST

1. The Citizenship Act 1955, provides how many models for acquiring the
Citizenship of India?

A. Six models B. Five models

C. Three models D. Two models

1955 @uwilenwd FULGHH6 Ly DHIU GQLSOTUSBE 6IHDHMET  (LPENBBHEIT
FBUULIQ(HESHBSH!?

A. 2@l s B. @bal o

C. weaimp wpem D. ggewis (wevm

2. Match the following :

List I List I
a. Citizens by domicile 1. Art.11
b. Citizens by migration 2. Art.8
c. Citizens by registration 3. Art.6

d. Termination of citizenship 4. Art.5
a b ¢ d

A 1 2 3 4

B. 4 3 2 1

C. 3 4 2 1

D. 2 3 4 1

CQUTHHHIH

a. GUTDAUSBLD (LPEULD (GHLQLDEE0T 1. a915& 11
b. GuUCGUWTFS GlgLDa 60T 2. a9rHH 8
C. UGHale eLpeVLD (GHIQLDSH 60T 3. a9ISHG 6
d. euulomw rHa! 4. a9ISHBl S

a b C d
A 1 2 3 4
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4 3 2 1
3 4 2 1
2 3 4 1

o0

3. A comprehensive law dealing with citizenship was passed in the Indian
Parliament in the year

A. 1967 B. 1991 C. 1955 D. 1993

hFHW LTITEHLOEBHHe0 GuTenwdsTtar @l B OTHHsF UL SuBpriil L
RIEIC)

A. 1967 B. 1991 C. 1955 D. 1993

4. Articles 5 - 9 of Part - II of Indian Constitution relating to Citizenship
came into force from
A. January 26, 1950 B. August 15, 1947

C. November 26, 1949 D. January 26, 1955

BhHw  sFwevemwoliller 2-augh  UGHulled STeIlILBL  Glulflewo  LmSw
SIFwevedolil] alFHHeT 5 — 9 BHOL (PewBHEG MbHHS

A.1950b syemi® gemeufl 260 mreT  B. 194710 suewi® @uHerdl 151D [H6i
C. 19490 semi meubum 2610 Brem D, 195510 opewih memaufl 2610 Hei

5. The word citizen is derived from

A. Greek B. Latin C. Spanish D. Urdu
Flggen etepid OFTed 61DETIHUTN(HHSHIOLIBLILL L S|
A. By sId B. ®evdh et C. eroumeiuid D. 2 mal
6. According to Citizenship Act 1955, the ways of acquiring citizenship
I. By Birth II. By Descent
III. By Registration IV. By Naturalization
V. By Incorporation of Territory
A.1, III, V are correct B. 1, II, V are correct
C.II, III, V are correct D. All are correct
Glowflennd FULID 1955-601 LIgemHeUT Glpujflento CUBIISBHTeTeULNSH6T
I. Opider epeold II. anbsmeuefuie cpevld
II. ugaler cpsuld IV. BuBenaswpenpuller cpsuld
V. 1I18sashdener EenemilILIZNe (LpeuLD
A. L III, Ve B.I II, V af
C.1II, III, V&l D. smansgin i
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According to citizenship act 1955, the ways of losing citizenship

I. By Termination II. By Renunciation
III. By Deprivation IV. By Naturalisation
A. 1 II, IV are correct B. 11, III, IV are correct
C. L 1, III are correct D. All are correct

Gluflend FULID 1955-601 LIge(hHeUT Glpujflento SUPLILISBSTET  6ULHISH6T
I wyeaisad Cares® aumeusber cpeod Il HIBSHH6T clpevld

III. opIsHSH6eV6  cLp6VLD IV. gupens (pevpuile epeold
A. L II, IVa B. II, III, IVl
C. L II, IIIsm D. smeanggin gl

Which of the following rights and privileges are conferred to citizens of
India (Not to Aliens)
A. Article 15, 16, 29, 30 B. Article 15, 16, 19, 29, 30

C. Article 15, 16, 18, 19, 29 D. Article 15, 16, 29, 30, 32

BhIHwTHEhdHE WLLGD Gufleowd FULSHSHe0 eupmsLL (BeTen 2 flenlndel
LOBBILD FeVINBHHEIT WITen6u?

A. FlL&ammp 15, 16, 29, 30 B. silL&amm 15, 16, 19, 29, 30

C. glLéamm 15, 16, 18, 19,29 D. glL&amm 15, 16, 29, 30, 32

Which of the following statement/s is/are correct?

I.  Naturalized citizen of India and citizen by birth are eligible for the
office of President

II.  Only a citizen by birth is alone eligible for the office of President in
USA

A.Tonly B. II only C. Both A and B D. Neither A nor B

eateumd abml/ gambmiseied e1gl/ eleneu Fifl?

L. BuBmas (wenpuled BB LIpliesr SigliumLuied @bhHu  Gluffleno
CQUBB PMHAUT GQUWITFH HEMELAUT DLAISBE HEHSHWIT6T6UT

II. Wpoder cpsod  Gujflens GuBBeuT wWLHEL SIOIWRASETAND  (GHQUITSH
SHMEVAUT DASBE H&HSHWITETEUT

A. T o0 Gib B. II 11" (b C. SyewiBIbd D. ©emiBiose

Consider the following statements

I.  The citizen who has been ordinarily a resident out of India for seven
years continuously deprived of his citizenship

II. When an Indian citizen voluntarily acquires the citizenship of
another country, his Indian citizenship automatically terminates
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A.Tonly is correct B. II only is correct

C. Both are correct D. Both are wrong

LesTeu(hlD SnMBmIBemen LIS

L. CHTLIHS 1o pibhHeT DbhHumened ol B DWOBTHSH6N60  EUTIHLD
BT seizs Sbsw Guflmwomwr  SwpssCrHiiGLD

II. om @b Gwdear alHILSHIL 6T DUIOBTL B Gloufflenioullener GuUBID
CuTpsl BhsHws Gulilamwamw @wsHs ChMBL

A. T @b & B. Il o' @Gw &f

C. @yewipo gl D. 8yewibio Heum
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